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Presidents Day Distributive Property Practice 

Directions:  Apply the Distributive Property Rule to the following problem and solve. 

                

 

                          

 

 

                                 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

6( 8 + 3x) = 
4(3t + 5) = 

9(7r + 9) =  12(8g + 9) = 

6(24 + x) =  7(36y + 7) = 
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Presidents Day Distributive Property Practice 

Answer Key 

Directions:  Apply the Distributive Property Rule to the following problem and solve. 

                

 

 

                          

 

 

                                 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

6( 8 + 3x) = 48 + 18x 
4(3t + 5) = 12t + 20 

9(7r + 9) =63r + 81 
12(8g + 9) =96g + 108 

6(24 + x) =144 + 6x  7(36y + 7) =252y + 49 


